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Objective: Adding and subtracting with integers. ()

Review the following addition and subtraction rules,

« To add two numbers with the same sign, add their absolnte values. The sum has the same sign as the
nutnbers,

= To add two numbers with different signs, find the difference of their absolute values. The sum has the same
sign as the number with the greater absolute value,

» Rewrite subtraction problems as addition problems by adding the opposite of the second value, To subtract a
number, add its opposite. (Some studenis may be familiar with “add a line, change the sign.”)

Objective: Multiplying and dividing integers.

Review the following multiplication and division rules:
» The product or quotient of two positive numbers is positive.
The product or quotient of two negative numbers is positive.

The product or quotient of a negative number and a positive number is negative. A
It is mathematically incorrect to divide by 0. When dividing by zero in arithmetic, the answer is undefined.
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Objective: Decimal and Fraction Operations,

Review the rules for adding, subtracting, multiplying, and dividing integers. The same rules apply

when adding, subtracting, multiplying, and dividing decimals and fractions.

= Remember to “line up the decimals” when adding and subtracting decimal values.

» Find common denominators and equivalent fractions when adding and subtracting,

= Multiply the numerators and multiply the denominators when multiplying fractions, If either of the
multipliers are mixed numbers, change them to improper fractions.

» To divide fractions: Find the reciprocal of the second fraction (divisor) and then multiply by the

first fraction (dividend).

» When you encounter a fraction and a decimal in the same problem, convert one or the other,

»  Always simplify the answers.

For example:
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Objective: Exponcents and Square Roots

l Expressions conlaining repeated faclors can be wrtten using exponents.

M) Welto 77777 using exponents,

Since 7 is used ns a factor b Hmos, 7T-7-7-7 - T=T5

“EXSml

Writep = p + p « ¢ » ¢ uslng exponents,

Since p is used as a factor 3 times and g iz used as a factor 2 times, p-p - p g -g=p* g%

The square root of a number is one of two equat faclors. The radieal sign V' Is used to indicale the
posilive square root,

“E: : Find each square voof, ,Ea_m!ﬁ% Esthoote V75,5 to the nearest whole numben

@ Vi Since1-1=1,VI=1 - * ‘The fivst perfect squave less than 70.3 is 64.

% -V1g Sineo 4 - 4 = 16, ~ V16 = ~4. * The first parfect squove greater than 70.3 iz 81.

€ v Since 0.6 - 0.6 ~ 0.25, V0,25 = 0. BL<TO5<81  Viftoaninoqaty.

55 s 5 2% & & 82 <793 <9 64 = §and 81 - 6
@ JE_E Sinca 66 36°V36 6 8<VT9.3<9 Tako the square root of eath number,
So, V70.3 is bebween 8 and 9. Sineo 79,3 is closer to 81 than 64, the best whole
number estimate for V79.3ia 9.
Wgte each expression using e}gonents. ;92
2 3
AP .
8 (i 1. 8e8eg 3 '\5‘ﬁ 2. bege3egege3d 371°9 da; /B.T,a.,g;g.g.ﬁ”.b«/gyb,ﬂ
o7 or 4547
Evaluate each expression. ‘b
2
J 42 T g 3010 A
A0 6 mier s (1Y
%L’ 5. 33.42 20‘3‘3 8. (0.2) . E
1
{ 7 oGl o 0F
T e P
Find each square root.
q 9, /81 -z 64 - % 16
T IR § B S w13 - =
4 to 225 25
- 10, £+/36 N 2/
- \?/ 12, £41.44 14. 4+4/0.25

Estimate each square root fo the nearest whole number.,

-

5

15. 44 O{ 17. 851 Order from least to greatest:

917,438 5
16. V16.6 /ﬁf 18. 197 5} J*gg) 7) @
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Objective: Using the ordex of operations,

Order of Operations:
1. Perform any operations inside grouping symbols (parentheses.)
2. Simplify any term with exponents.
3. Multiply and divide in order from left to right.
4, Add and subtract in order from left to right.
Many students use PEMDAS o help them remember the order to perform operations.

Parentheses

Exponents - .
Muitiply and PONCA, LS UALM M tAedh
Divide ‘
Add and - Dione_ aas WS b %’\M“UW
Subtract,
Simplify the following expressions,
~lp h 15-7-3 -85 1)  5*3°
6% 2) T*8-5+6 3 ”‘\3 1) (7 +2)(3) +9
;&3) @3-74-12 5‘5 12) 18 +(9-15+5)
i@ 12 +4+2:(-7)-18 +(:3) ~5 ‘ ‘+ 13) 624072409
r
_,;Q*_S) 4 -2* Hié / 14) 35.-3(6-2)°
ﬁz'_éii 6) 6(5 +12 +6)° \3 15) (49-10) +(52/4)
VL, =
' 3 2} 1 3,23
2t (z*s] "2 S SERDI S
A |
) 2 Insert grouping symbols “( ) to make the equation
\ ‘g 3) _;_ + (%J true.

| | 17) é+zﬂ+4=4

% 1422
- TR N 18) 6+7~(z+5)zs5



Objective: Evaluate Expressions

To evaluate, or find the value of, an algebraic expression, first replace the variabloe or variables with the
known values to produce a numetical expression, one with only numbers and opetations, Then find the
value of the expression using the order of operations. Be sure to substitute into parentheses!

BEvaluate the expression 312 — dyifa =3 andy = 2.

312 — dy = 3(3)2 — 4(2) Replace x with 3 and y with 2.
= 3(9) — 4(2) Evaluate the power first,

x* -3 A 2b—8

=27-8 Do ali mulliplications.
=19 Subtract.
Evaluate each cxpression ifw=2,x=6,y=4, Evaluate each expression if a=4, bh=13, and
andz=3. c=06.
“‘9 I} 2x+y {% 8) a(3+b)—¢
‘ \ 2) 3z—2w l 9 2Aab—9) +c
__LEL% 94+7x—y 2‘,0 10)  3b2+2b-17
’/}’Z/ 4 2 e 2
e o e
c —
| L‘“’% 5) (wx)?
-~ ' — \ 6 12) ab+be

Evaluate each expression if p = 5 and ¢ = 12,

wz
7 y+6 } 13) .
g+2(p+1)

S
1} D
1O i 14) When a tempetature in degrees Fahrenheit ¥ is known, the expression o 9160 can

be used to find the temperature in degrees Celsius, C. If a thermometer shows that
the temperature is 50°F, what is the temperature in degrees Celsius?

ﬁs 5?—» 15) 'The cost of renting a car for a day is given by the expression 270+ m , where m is

he number of miles driven. How much would it cost to rent a car for one day and
drive 50 miles?

Z-q: 16) Philip is able to spin his yo-yo along a circular path. The yo-yo is kept in motion by
2

a force which can be determined by the expression (m = mass, v = velocity,

and » = radius.) Evaluate the exprossion when the m =12, v=4 and =8,
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Objective: Solve One-~ and Two-Step Equations

You can use the following properties to solve addilion and sublraction equations.
« Adcdition Properly of Equality — \f you add the samme number o each slde of an equation, the o

sides remain equal,
« Sublaction Property of Equalify — if you sublract the same number from each side of an equation,

the two sides remaln equal.

You can use the following properties to solve multiplication and division equations.

« Multipcation Properly of Equality — | you muliply oach side of an equation by the same number, Ihe
two sides remaln aqual,
« Division Property of Equality — f you divide each side of an squation by the same nonzero number,

the two sides remaln equal.

A twio-step equation contains two operations. To solve a two-step equation, undo each operation in
reverse order.

Vertieal Mothed
20 +6= 14 Write the equation.
~6= 6 Sublract § from sach sido.

-2 - s ) Check —-2r+ 6= 14 Wiriea ¥ oquiadon

o s Sienpity - EL L Reglioeawih -4toseo i he irdenseis s,

o Sl y Difids sach side by -2, H= 14/ Toowrbivelstng

a=—4 Simofh. The solotion is —1.
53°
1. Two angles arc complementary angles. If one angle measures 37°, write and solve

an equation to find the missing angle measure.

=
(O 33 2. On one day in Fairfield, Montana, the temperature dropped 84°F from noon to
midnight, If the temperature at midnight was -21°F, write and solve an equation to
determine the temperature at noon that day.

Solve and check. Show all steps — even if you can do the caleulations in your head. Number and show
your work on notebook or graph paper, Staple your work to this packet.

3. y+12=’;§ g 10_ ¢ 13.18=5 44
\i: - % 5 3

4 g-92=-13 K= s 1“3
6;,\\ 9, 4x=44 : 14. 5+_}i=_3

5. 9b—-T2 x =\ _}_58:: -k

k) ~ -8 10. 34=-4j
—F -2 ) 15, 15—%:28

6, —35=>5n
— 11, 2h+9=21
,-’7 =1 2h+9 A =~ 5. |
\(\ S—E
7 —8=~c— 1
: 12 12. —17=6p->5 16. ——Ex—7=-——11

~0, = ¢ ~2=% X=B
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Objective: Probability

You can collect data through observations or experiments and use the data to state the experimental
probability as a ratio of favorable outcomes to the total number of trials.

favorable outcomes

Pleven)= "1 mber of trials

Theoretical probability is the ratio of the number of ways the event can oceur to the total number of
possibilities in the sample space.

favorable outcomes
# of possible outcomes

Plevent) =

Two events are independent when the outcome of the second is not affected by the outcome of the
first, Examples of independent events: flipping coins; spinning spinners; choosing an jtem from a bag
and replacing it before choosing another item.

If A and B are independent events, P(A and B) = P(A) % P(B).

Two events are dependent when the outcome of the second is affected by the outcome of the first.
Examples of dependent events: choosing an item from a bag and nof replacing it before choosing a
second item from the same bag; selecting a candy, eating it, and selecting another candy.

If A and B are dependent events, P(A, then B) = P(A) x P(B afier A).

Use the following situation for problems 7-16.

Suppose you have a drawer of socks containing 15 red, 5 white, 25 green, 20 black, 25 purple, and 10
blue socks. You draw a sock, record its color, and put it back. You do this 100 times with these results:
12 red, 9 white, 27 green, 17 black, 22 purple, and 13 blue. Write each probability as a fraction in
simplest form,

1. P(red) 2. P{whitc) |3.P(green) |4, P(black) | 5. P(purple) | 6. P(blue)
Experimental 2. 4, 27, A7 2% N v
probability LS {st [ D% I LO% {0 Eo) {0
Theoretical |5 _ 713 1 |2 - LJ Zy V22 / _1_7 [’r\ i )
probability > ~ [ ZG\ jo 20 70 {;‘j] T‘J‘; 5 - ‘
_f}__g?_ 7) Suppose you take out a sock, put it on your foot, and take out another sock. Are these
evenfs independent or dependent?

” 57 aL
4= 8) What is the probability of drawing a red, putting it on, and then drawing a blue sock? 5

26248133

Express each theoretical probability as a Express each theoretical probability as a pereent.
fraction in simplest form. (38 " Round to the nearest tenth, if necessary.
e e i\a : "
2055 9) P(red and blue) 5‘@ s {.9% 13) P(red and bluc)

2 o

Fxs_10) Plred, then white) = + %, + 3 /o 14) Pred, then white)

O L)
O 11) P(green and orange} / 2 15) P(green and orange)

2 L

§S_ 12) P(red, then green) g}; e 3. % Q/ = 16) P(red, then green)



_Objective; Statistics

The mean, median, and mode are measures of central tendency.

= To caleulate the mean of a set of data, find the average.

» To find the median of a set of data, order the data and find the middle number,

» The mode is the data that ocours most often, It is possible to have no mode or more than one mode.

The range and interquartile range are measures of variation.
« The range is the difference between the highest and lowest values in the data set.

The lower quarliie or LQ s the madian of the lower half of a set of dala. The upper quarille or UQ is
the median of the uppar hall of a set of data, The interquariile range is Whe diference between the
upper quartife and the tower quartile.

B Find the range, median, upper and lower quartiles, and
interquartile range for the following set of data,
18, 20, 18, 12, 21, 2, 18, 17, 15, 10, 14

The greatest number in the data set is 21. The least number is 2. The range is 21 — 2 or 18,

To find the quartiles, mrange the numbers in order from least to greatest,
2 10 12 13 14 16 17 18 18 20 21

The median is 16. The nwumnbers below 16 ave 2, 10, 12, 13, and 14. The median of the

numbers below 16 is 12, so the lower quartile is 12. The numbers above 156 arve 17, 18, 18,

20, and 21. The median of the numbers ahove 15 is 18, so the upper quartile is 18, The

interquartile range is 18 — 12 or 6.
Find the mean, median, mode, and range for the set of data: 3 8.2,9 16,4,6,12,15 _
1% Dmean & ot (Oood PENG.  3) mode 2 B, L%S’;Qi, 15, 128

) un\Ly  doroded .
g 2) median e { ) 4)range

Find the range, median, upper and lower quartiles, and interquartile ranfe for each set of data.
5. 14; 16,18; 24,19, 15, 13 12, KNT 16 13, 1e &Y

T LR .
rrediant e TREO P A

fovsea § & Wy ‘\@abw:u@\:\u hOURSR. &
6. 91;92, 38, 89, 959565, §,9¢ (5, 75, ¥, §4,1,9) 22,9595
YGroued 30 wpper €825

Ynedian'd) . .
n - ;
on s TS ) %ﬁf%vm\qmwng b

Which measure of central tendency would you use to find:
{X xedu G 7) the middle-most salary of teachers working in Fort Bend ISD?

YN0« ‘\ng 8) the radio station your fiiends fike the best?
OO 9) your favorite baseball player’s batting average?



Objective: Geometry, The Coordinate Plane

number line is the y-axis, Their inlersaction is the origin,

sacond number is the y-coordinate.
The coordinate plane is separated Into four seclions called quadrants.

The coordinate plane is used to locate points. The horizontal number line is the x-axls. The vertical

Polnts are located using ordered pairs. The first number in an ordered pair is the x-coordinate; the

J}
3
EENNEE N A SN AN
A BT
UL TR e T E g
Q,ulad,rgy;t I Qiladrant]
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Name the ordered pair for each point. Then identify the Quadrant in which it is located.

La (35,0, 1 23 (3,2.9),m

: #
3. C CMI.Y;L)} T 4.D (2}~2.S)/ﬁ s
A
5. (‘*15)1-5)) T 6 F (2-5)’—\“%_5/3:— Ht-fe :
—~ 5 il
6 (39,3 5) i o H (45713 iy
Graph and label each point.
9. J {2%, %) 10. K (3, —1-2—) AL
1L M(—S%, 4%) 12. N(w-’:’%, '—2%) -k SEEED N
i
13, P(-2.1, 1.8) 14, Q (175, -—3.6] ' "
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Objective: Geometry, Transformations

A transformation is a mapping of a geometric figure. Transformations include dilations, reflections,
and translations, (Rotations will be tatight in hlgh school geometry ‘clasges))y The. ong]nal figure (before
the transformatlon is performegi) js:called e p pre-nnage The new figireis: eal@ the Jmhge If the

D)

Trans]aﬁbns Whenf a ﬁgure is trans]atecjzrevegy  point is moyved the same distance and in the sdpe
direction, The S translated” ifidge Ts-conpruent to the pre-image and | has the same orieRAtoH: A"
teanslation is sometimes called a slide because it looks like you simply stide the pre-image over to
create the image.

Reflections To perform a reflection: For each vertex, count the number of units between the vertex and
the line of symmetry. Count the same number of units between the vertex and the line of symmetry but
on the other side of the line of symmetry and mark the new points.

Dilations To perform a dilation, multiply each x and y value of each point by the scale factor, If the
image is larger than the pre-image, the dilation is called an enlargement. If the imédge is smaller than
the pre-image, the dilation is called a reduction.

Draw the image of the figure after the indicated translation.

1. b units right and 4 units down 2. 3 units left and 2 unifs up
S ‘
r l é;

AN 116

/ / \
T ] X ||
\0: [~ // lF‘ ‘;(
F H
] 7

Draw the image of the figure after a reflection over the given line.

1. 3 2. T ) 8. ;
5 S - 7l X
B{Y
I\ lf1
N /i , G AACL MY
\ A4 G - JZANERN
\ \ ! A l/ \ H H
ALl | F ‘ |
5 ol
i ¥ T ! ¥
B
1. Polygon ABCD has vertices A(2, 4), B(~1, 5}, C(—3, —5), and ] él"“-
D(3, —4). Find the coordinates of its image after a dilation ; ;f; a %
with a scale factor of % Then graph polygon ABCD and its o % -
dilation. 7 2
FIF M MIE!
P&\ (__\\7") [;:;—«";&.
" [ ‘r\';
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Objective: Geometry and Measurement
A formula chart can be found at the following link on pages 9 and 10.

hitp:/ritter.tea.state.tx us/student.assessment/resonrces/guides/stud v/GE8MathE-SG.pdf
Sketeh the net of cach 3-D figure.

4 1) Cube

2) square pyramid

3) cylinder @ C{j"

4) triangular prism @

Find the surface area and volume for each figure,
10cm

14 n. 6em

\\rﬂo i{\L 5) surface area HBL* CS(T’\:Z/7) surface area
: - .3 a
27% AN 6) volume I 6L9Q7 (fn.__ 8)volume

.3
QL{' (ﬂy 'F’!’ 9) What is the volume of a ¢ylinder with radius of 7 feet and height of 42 feet?

(Useirﬂ%z*) V:*Tr‘(ur‘ - %(H%X%

O\(Y\\ i 10) Find the surface area of a cone with d=8 feei f._nd 1 =14 feet. (Use # =3.14)

—

2
5 % 11) Find the volume of a square pyramid. The edge of the square is 1.5 cm, and
. oy - <L
the height of the pyramid is 4 cm, \[ - ,\% B % =153

N= Y (zasYw) B =)
12) Explain the difforence between total surface area and lateral surface area,
— otel Swhu ange indiodes W oness of
Une Loigo & ‘ooaoe(d)

. Mﬂaiﬁw\%@&l onte, M indeo (n\% Yt e,
G’(:" \{Mr&kw




